In-Class Exam 
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15) a) 1s2 2s2 2p6 3s2 3p 6 4s2 3d10 4p3

b) For sodium:

Na3As: As acts as anion and accepts 3e- from the 3 Na

AsCl3: As acts as cation and gives one e- to each Cl-

AsF5: As acts as cation, giving up one e- to each F-

16) a) ionization energy is energy used in removing outermost electron from particular atom.

b) Lithium is unstable since it has one electron electron. It doesn’t take much energy to remove an electron. Neon has a configuration of a noble gas configuration, and hence it is stable and more difficult to remove an electron, so IE of Ne would be higher.

c) Boron’s outermost electron sits in the 2p orbital, and since this electron is farther away from the nucleus than Be’s outermost electron at [He]2s2, Be has a higher first IE than Boron. 


d) Since O has a fourth electron in the 2p shell, extra repulsion is created whereas in N, each electron occupies a separate 2p orbital; hence, it takes more energy to remove an electron from Nitrogen than from Oxygen.


e) Na would have a lower IE than Li, as Na’s outermost electron is less attracted to the nucleus due to the shielding effect. Na would have a lower IE than Ne since Ne is a noble gas and has a stable configuration, whereas Na is extremely unstable.

